Which of the following issues are the three most important in determining how you will vote in this election?

Gender Education Decided-Voters Leaners

] eender ] M | Edweton
Total Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal | The New The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's | other party | vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would spoil
Canada ballot
A B C D E F G H |

J K L M N 0 P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
452 221 230 116 173 163 70 119 139 124 84 163 76 13 15 20 1 19 60
COVID-19 pandemic 30% 32% 29% 27% 32% 32% 33% 30% 27% 34% 23% 41% 28% 14% 31% 53% 3% 35% 31%
385 142 244 103 176 106 50 115 133 87 102 91 103 7 16 9 2 11 44
Affordability and cost of living 26% 20% 31% 24% 32% 21% 24% 29% 26% 24% 28% 23% 37% 7% 34% 25% 16% 19% 22%
A CE * M M JKMQR * ** *k ** * M
385 160 224 88 147 150 58 102 132 93 72 126 94 9 7 2 4 17 55
Health care 26% 23% 28% 21% 27% 29% 27% 26% 26% 26% 20% 32% 34% 10% 13% 6% 24% 30% 28%
306 157 149 53 120 133 11 60 121 113 112 90 40 14 3 7 5 5 29
The economy 21% 23% 19% 12% 22% 26% 5% 15% 24% 31% 31% 23% 15% 15% 6% 18% 31% 10% 15%
C C * F FG FGH KLMQR L * ** *k ** *
289 132 156 90 134 64 41 86 95 67 65 74 77 12 7 11 - 8 35
Housing (e.g., affordability, availability) 19% 19% 20% 21% 25% 13% 19% 22% 19% 18% 18% 19% 28% 13% 14% 28% - 15% 18%
281 125 156 83 90 107 27 56 96 101 39 110 64 9 21 - - 7 30
Climate change 19% 18% 20% 19% 16% 21% 13% 14% 19% 28% 11% 28% 23% 10% 43% - - 12% 15%
242 133 109 83 88 71 45 61 72 64 86 48 34 3 8 16 2 15 29
Taxes 16% 19% 14% 19% 16% 14% 22% 15% 14% 17% 24% 12% 12% 4% 17% 42% 12% 27% 15%
B * KLMR M M * ** *k ** KLM* M
191 107 84 39 64 88 23 45 81 42 91 26 17 15 8 7 * 5 21
Government deficits/debt 13% 15% 11% 9% 12% 17% 11% 11% 16% 11% 25% 6% 6% 16% 17% 19% 3% 9% 10%
183 98 84 91 59 33 36 51 57 39 58 43 24 4 6 - - 12 36
Unemployment/jobs 12% 14% 11% 21% 11% 6% 17% 13% 11% 11% 16% 11% 9% 4% 11% - - 22% 18%
DE E * LM * *k *k *k LM* KLM
182 80 102 42 60 81 28 64 62 29 25 45 16 44 9 4 2 6 30
Gun control 12% 12% 13% 10% 11% 16% 13% 16% 12% 8% 7% 11% 6% 47% 19% 11% 16% 11% 15%
cD * | | L JKLQR* ** *k ** * JL
157 62 95 54 52 51 29 43 55 30 8 45 55 16 8 1 - 4 20
Indigenous issues involving First Nations and Native peoples 11% 9% 12% 13% 9% 10% 14% 11% 11% 8% 2% 11% 20% 17% 16% 1% _ 7% 10%
150 76 74 52 59 38 29 44 43 34 9 51 52 1 5 5 6 9 12
Poverty and social inequality 10% 11% 9% 12% 11% 8% 14% 11% 8% 9% 3% 13% 19% 2% 11% 12% 39% 15% 6%
126 69 57 29 46 52 10 42 51 23 72 9 18 4 - 14 * 4 6
Corruption and ethics in government 9% 10% 7% 7% 8% 10% 5% 10% 10% 6% 20% 2% 6% 4% - 36% 3% 6% 3%
125 50 75 5 28 93 11 49 47 18 35 33 25 1 2 4 4 4 18
Seniors' issues/aging population 8% 7% 10% 1% 5% 18% 5% 12% 9% 5% 10% 8% 9% 1% 3% 11% 25% 8% 9%
C ch * | | M M M * *k *k *k M* M
103 50 52 56 34 13 21 25 27 30 15 22 20 4 2 1 - 7 30
Education 7% 7% 7% 13% 6% 3% 10% 6% 5% 8% 4% 6% 7% 5% 4% 3% - 13% 15%
85 44 41 30 22 33 21 22 27 16 14 24 9 20 1 - 3 1 14
Abortion 6% 6% 5% 7% 4% 6% 10% 5% 5% 4% 4% 6% 3% 21% 2% - 23% 2% 7%
82 34 47 20 27 35 7 23 32 20 8 23 6 21 4 1 3 4 11
Relations with other countries/trade 6% 5% 6% 5% 5% 7% 3% 6% 6% 5% 2% 6% 2% 23% 7% 2% 23% 7% 6%
79 39 40 21 36 22 21 18 30 11 21 24 8 8 1 - - 3 15
Infrastructure (e.g., public transit, bridges, roads) 5% 6% 5% 5% 7% 4% 10% 5% 6% 3% 6% 6% 3% 8% 1% _ _ 5% 8%
I* I * k% k% k% *
76 35 42 20 22 34 11 17 25 23 33 6 10 6 3 7 1 3 7
Energy, including pipelines, gas prices 5% 5% 5% 5% 4% 7% 5% 4% 5% 6% 9% 2% 4% 6% 7% 19% 7% 5% 4%
67 18 48 26 19 21 13 12 26 16 7 15 17 9 1 1 3 3 11
Childcare 5% 3% 6% 6% 3% 4% 6% 3% 5% 4% 2% 4% 6% 10% 1% 2% 23% 5% 6%
63 40 23 23 17 23 3 16 30 15 20 19 5 6 4 2 3 2 4
Immigration 4% 6% 3% 5% 3% 5% 1% 4% 6% 4% 6% 5% 2% 6% 8% 5% 19% 3% 2%
B * L * k% k% * %k *
62 27 36 28 16 18 11 16 21 15 6 21 12 14 - - - 1 8
Women's issues 4% 4% 5% 7% 3% 4% 5% 4% 4% 4% 2% 5% 4% 15% - - - 3% 4%
62 26 36 34 15 13 3 17 22 20 6 29 8 1 2 - 3 3 10
Racism/discrimination 4% 4% 5% 8% 3% 3% 1% 4% 4% 5% 2% 7% 3% 1% 5% - 19% 6% 5%
54 27 28 12 28 15 5 15 20 15 29 4 9 1 2 1 1 1 7
Interest rates/inflation 4% 4% 4% 3% 5% 3% 2% 4% 4% 4% 8% 1% 3% 1% 3% 2% 7% 2% 4%
54 27 26 16 24 13 2 23 18 10 24 10 8 1 - - - - 11
Crime and violence 4% 4% 3% 4% 4% 3% 1% 6% 4% 3% 7% 3% 3% 1% - - - - 6%
* K * k% k% k% *
53 22 31 18 24 11 19 11 18 6 7 15 4 5 6 - - 4 12
Drug abuse 4% 3% 4% 4% 4% 2% 9% 3% 4% 2% 2% 4% 1% 5% 13% - - 7% 6%
52 24 28 15 17 20 6 17 15 14 13 7 1 17 5 - - 1 7
Extremism/terrorism 4% 3% 4% 3% 3% 4% 3% 4% 3% 4% 4% 2% * 18% 11% - - 2% 4%
52 25 26 19 14 19 12 14 20 5 12 7 7 12 - 1 1 6 7
Defence, the Armed Forces 3% 4% 3% 4% 3% 4% 6% 3% 4% 1% 3% 2% 2% 12% - 2% 9% 10% 3%
26 22 4 14 12 - 9 5 5 6 11 6 2 1 1 - - - 5
New technology 2% 3% 1% 3% 2% - 4% 1% 1% 2% 3% 2% 1% 2% 1% - - - 3%
26 7 19 4 12 10 - 10 9 7 5 7 4 2 1 1 - 1 5
Relations across provinces 2% 1% 2% 1% 2% 2% - 3% 2% 2% 1% 2% 1% 2% 1% 2% - 3% 3%
* * *k * %k *k *
4450 2082 2368 1283 1636 1531 631 1198 1529 1092 1090 1193 826 280 146 114 45 166 590
Sigma 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300% 300%

Dates of field: Sept. 10-13



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - COVID-19 pandemic

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 447 197 250 90 199 158 20 69 177 181 81 170 93 12 14 14 1 13 49
Base: All Answering (wtd) 452 221 230 116 173 163 70 119 139 124 84 163 76 13 15 20 1 19 60
190 104 86 42 59 89 20 51 56 63 5 150 11 5 3 - - 7 10
The Liberals 42% 47% 37% 36% 34% 55% 29% 43% 40% 51% 6% 92% 14% 37% 21% - - 35% 16%
75 44 31 19 37 19 8 18 23 25 61 6 3 1 - 2 1 - 2
The Conservatives 17% 20% 13% 16% 22% 11% 12% 15% 17% 20% 73% 4% 4% 5% - 10% 100% - 3%
63 32 31 22 22 19 10 20 18 15 6 3 49 1 3 - - - 1
The NDP 14% 15% 13% 19% 13% 12% 14% 17% 13% 12% 7% 2% 64% 4% 23% - - - 2%
18 5 13 10 7 1 9 2 6 1 - - - - - 17 - 1 -
The People's Party of Canada 4% 2% 6% 9% 4% * 13% 2% 4% 1% - - - - - 83% - 6% -
E* k% * * * * % * %k %k k% k% *
7 2 5 2 1 3 - 3 2 1 - - 1 - 5 - - - 1
The Green Party 1% 1% 2% 2% 1% 2% - 3% 1% 1% - - 1% - 35% - - - 1%
* k %k * * * * %k * %k k% *k * %k *
5 4 3 - 2 - 2 2 1 - - - 4 - - - - 1
The Bloc Quebecois (BQ) 1% * 2% 2% - 1% - 2% 2% * - - - 29% - - - - 2%
* k% * * * * % * %k %k * %k * % *
94 34 61 19 46 30 23 22 32 18 12 5 13 3 3 1 - 11 46
Nothing/None of them - they're all the same 21% 15% 26% 16% 26% 18% 33% 19% 23% 14% 14% 3% 17% 24% 21% 6% - 59% 76%
452 221 230 116 173 163 70 119 139 124 84 163 76 13 15 20 1 19 60

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Unemployment/jobs

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 157 78 79 61 67 29 9 28 69 51 43 38 32 5 2 - - 10 27
Base: All Answering (wtd) 183 98 84 91 59 33 36 51 57 39 58 43 24 4 6 - - 12 36
57 32 26 30 10 17 14 15 18 10 49 1 2 - - - - 1 5
The Conservatives 31% 32% 31% 33% 16% 53% 40% 30% 31% 27% 84% 2% 6% - - - - 8% 14%
* * * * * %k * %k * %k * * * %k * %k * 3k * 3k * %k * 3k * %k
51 32 19 24 20 7 8 18 14 11 4 38 2 - - - - 2 4
The Liberals 28% 33% 22% 27% 34% 21% 22% 35% 25% 28% 7% 89% 9% - - - - 19% 12%
* * * * * %k k% k% * * k% %k k% * %k * %k * %k * %k
23 7 15 14 8 1 3 2 7 10 1 1 16 1 1 - - 2 1
The NDP 13% 8% 18% 15% 14% 3% 9% 4% 13% 26% 1% 2% 67% 14% 19% - - 17% 4%
* * * * * 3k * %k * %k * * * %k * %k * 3k * 3k * %k * 3k * %k
4 3 1 2 2 1 - 2 2 1 - 2 - 2 - - - - -
The Bloc Quebecois (BQ) 2% 3% 1% 2% 3% 2% - 3% 3% 2% - 4% - 69% - - - - -
* * * * * %k k% k% * * k% %k k% * % * %k k% * %k
1 1 - - 1 - - - - 1 - 1 - - - - - - -
The Green Party * 1% - - 1% - - - - 2% - 2% - - - - - - -
* * * * ¥k %k * %k * * %k * %k * 3k * 3k * %k * 3k * %k
47 23 24 21 19 7 10 15 16 6 4 1 4 1 4 - - 7 25
Nothing/None of them - they're all the same 26% 24% 28% 23% 32% 21% 29% 28% 28% 14% 8% 2% 17% 17% 81% - - 56% 71%
* * * * * %k k% k% * * k% %k k% * %k * %k %k * %k
183 98 84 91 59 33 36 51 57 39 58 43 24 4 6 - - 12 36

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Education

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 96 38 58 43 38 15 5 15 36 40 12 22 28 5 1 2 - 4 22
Base: All Answering (wtd) 103 50 52 56 34 13 21 25 27 30 15 22 20 4 2 1 - 7 30
28 18 10 15 9 4 8 2 6 12 - 14 1 1 - - - 4 7
The Liberals 27% 36% 19% 27% 26% 30% 40% 7% 23% 39% - 64% 3% 34% - - - 64% 23%
* %k * sk * 3k * %k * %k * %k * * * %k * %k * 3k * 3k * %k * %k * 3k * %k
20 8 12 15 4 1 9 2 6 3 13 - 1 - - - - - 6
The Conservatives 20% 16% 23% 26% 12% 8% 44% 9% 21% 11% 90% - 5% - - - - - 19%
* %k k% k% * %k k% k% * * k% %k k% * %k * %k k% * %k * %k
20 9 11 13 5 2 - 4 6 10 1 2 15 1 - - - - 1
The NDP 19% 18% 20% 23% 15% 14% - 16% 22% 33% 10% 8% 74% 14% - - - - 3%
* 3k * %k * 3k * 3k * %k * %k * * * %k * %k * 3k * 3k * %k * %k * 3k * %k
4 4 1 4 - - 4 - 1 - - - - 1 - - - - 4
The Bloc Quebecois (BQ) 4% 7% 2% 8% - - 17% - 3% - - - - 19% - - - - 12%
* %k k% k% * %k k% k% * * k% %k k% * % * %k %k k% * %k
4 4 1 4 1 - - 3 2 - - 4 - - - - - - 1
The Green Party 4% 7% 1% 6% 2% - - 11% 6% - - 16% - - - - - - 2%
¥k * %k * 3k ¥k %k * %k * * %k * %k * 3k * 3k * %k * %k * 3k * %k
26 8 18 5 15 6 - 14 7 5 - 3 4 1 2 1 - 3 13
Nothing/None of them - they're all the same 26% 16% 35% 9% 45% 48% - 57% 25% 17% ; 12% 18% 33% 100% 100% - 36% 42%
* %k k% k% * %k k% k% * * k% %k k% * %k * %k k% %k * %k
103 50 52 56 34 13 21 25 27 30 15 22 20 4 2 1 - 7 30

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Taxes

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R

Base: All Answering (unwtd) 220 114 106 59 97 64 12 34 89 85 79 51 35 5 4 9 2 11 24
Base: All Answering (wtd) 242 133 109 83 88 71 45 61 72 64 86 48 34 3 8 16 2 15 29

92 57 35 28 35 30 12 21 30 30 68 7 1 - - 3 2 4 6

The Conservatives 38% 43% 32% 34% 39% 2% 26% 34% 2% 47% 79% 15% 3% - - 19% 100% 30% 22%

* * * * * kk * * * K* * %k * 3k * %k k 3k * 3k * 3k * %k

44 25 18 21 11 12 7 10 10 16 1 31 6 1 2 - - 1 1
The Liberals 18% 19% 17% 25% 12% 17% 16% 16% 14% 26% 1% 64% 17% 27% 26% - - 10% 5%
* * * * * k% * * * * J * k% * %k * %k k% k% * %k * %k

31 18 12 12 12 6 7 5 12 7 2 5 23 - - - - - 1
The NDP 13% 14% 11% 15% 14% 9% 15% 8% 17% 11% 2% 10% 67% - - - - - 3%
* * * * * kk * * * * * %k * %k * %k k %k * %k * %k * %k

9 8 1 1 6 3 4 2 2 1 - - - - 1 8 - - -

The People's Party of Canada 4% 6% 1% 1% 6% 4% 10% 3% 3% 2% - - - - 11% 51% - - -
* * * * * k% * * * * * k% * % * %k %k k% k% * %k

7 4 3 4 2 * 4 2 1 * 2 - 1 * 4 - - - -

The Green Party 3% 3% 3% 5% 3% 1% 10% 3% 1% 1% 2% - 2% 13% 54% - - - -
* * * * * k %k * * * * * %k * %k * %k k% *k * %k * %k

- 1 - 1 - - - 1 - - - - 1 - - - - -

The Bloc Quebecois (BQ) * - 1% - 1% - - - 1% - - - - 18% - - - - -
* * * * * k% * * * * * k% * % * %k %k * %k * % * %k
58 20 38 16 22 20 10 22 16 9 13 5 3 1 1 5 - 9 20

Nothing/None of them - they're all the same 24% 15% 35% 19% 25% 28% 23% 37% 22% 15% 16% 11% 10% 42% 8% 30% - 60% 70%

242 133 109 83 88 71 45 61 72 64 86 48 34 3 8 16 2 15 29

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Crime and violence

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 52 25 27 11 28 13 1 13 23 15 21 12 9 1 - - - - 9
Base: All Answering (wtd) 54 27 26 16 24 13 2 23 18 10 24 10 8 1 - - - - 11
23 14 9 9 8 6 - 9 11 3 21 - 2 - - - - - -
The Conservatives 42% 49% 35% 55% 33% 45% - 40% 59% 27% 88% - 21% - - - - - -
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * %k
11 6 5 3 4 3 - 5 2 3 - 9 - - - - - - 2

The Liberals 20% 21% 20% 21% 18% 25% - 22% 14% 33% - 87% - - - - - - 21%
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k
3 2 1 - 3 - - 1 1 * - - 3 - - - - - 1

The NDP 6% 8% 5% - 13% - - 6% 7% 5% - - 31% - - - - - 6%
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k
1 1 - 1 - - - 1 - - - - 1 - - - - - -
The Green Party 2% 3% - 6% - - - 4% - - - - 11% - - - - - -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % * %k
16 5 11 3 9 4 2 6 3 4 3 1 3 1 - - - - 8

Nothing/None of them - they're all the same 29% 19% 40% 18% 36% 30% 100% 27% 19% 35% 12% 13% 36% 100% - - - - 73%
* %k k% k% k% * %k k% k% k% %k k% k% k% %k * %

54 27 26 16 24 13 2 23 18 10 24 10 8 1 - - - - 11

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Climate change

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 321 126 195 80 121 120 8 35 126 152 40 121 91 8 18 - - 7 36
Base: All Answering (wtd) 281 125 156 83 90 107 27 56 96 101 39 110 64 9 21 - - 7 30
87 39 48 40 27 20 4 21 31 31 11 24 24 3 19 - - 1 5
The Green Party 31% 31% 31% 48% 30% 19% 16% 38% 32% 30% 28% 21% 37% 34% 90% - - 11% 18%
79 38 40 16 22 40 13 14 21 30 1 72 2 - - - - 2 2
The Liberals 28% 31% 26% 19% 25% 37% 48% 25% 22% 30% 2% 65% 3% - - - - 29% 8%
45 18 28 19 16 11 2 5 18 20 1 8 35 - - - - 1 1
The NDP 16% 14% 18% 22% 18% 10% 9% 9% 18% 20% 3% 8% 54% - - - - 11% 2%
21 10 11 1 12 8 4 2 9 6 19 1 1 - - - - - -
The Conservatives 8% 8% 7% 2% 13% 7% 15% 4% 9% 6% 49% 1% 1% - - - - - -
* * C* * k% * k% * * * % * %k k% * %k
1 1 - 1 - - - - - 1 - 1 - - - - - - -
The Bloc Quebecois (BQ) * 1% - 1% - - - - - 1% - 1% - - - - - - -
* * * * %k * %k * * * 3k * %k * 3k * %k
48 19 29 6 12 29 3 14 18 13 7 4 3 6 2 - - 3 22
Nothing/None of them - they're all the same 17% 15% 19% 8% 14% 27% 13% 24% 19% 13% 18% 4% 5% 66% 10% - - 48% 72%
281 125 156 83 90 107 27 56 96 101 39 110 64 9 21 - - 7 30

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Extremism/terrorism

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 54 25 29 12 24 18 2 10 21 21 13 8 2 20 3 - - 2 6
Base: All Answering (wtd) 52 24 28 15 17 20 6 17 15 14 13 7 1 17 5 - - 1 7
21 14 7 1 10 10 - 7 6 8 11 1 * 7 1 - - - 2
The Conservatives 41% 57% 26% 6% 59% 50% - 39% 41% 59% 81% 8% 36% 44% 11% - - - 22%
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * %k * 3k * %k
9 5 5 3 4 2 - 3 2 4 1 6 - 3 - - - 1 -
The Liberals 18% 19% 18% 23% 24% 10% - 17% 15% 30% 5% 78% - 15% - - - 46% -
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k * %k * %k
7 1 6 2 1 4 3 2 3 - - - - 5 2 - - - -
The Bloc Quebecois (BQ) 14% 5% 21% 11% 7% 21% 50% 10% 17% - - - - 32% 33% - - - -
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k * %k * %k
2 - 2 - - 2 - 2 - - 2 - - - - - - - -
The People's Party of Canada 4% - 7% - - 9% - 11% - - 14% - - - - - - - -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % * %k k% * %k
2 1 1 1 1 - - - 1 1 - 1 - - - - - - 1
The NDP 3% 4% 2% 7% 3% - - - 4% 7% - 13% - - - - - - 8%
* %k k %k k% %k * %k k %k k% %k * %k k %k k% %k * %k * %k * %k * %k
11 4 7 8 1 2 3 4 4 1 - - 1 1 3 - - 1 5
Nothing/None of them - they're all the same 21% 16% 26% 53% 7% 10% 50% 22% 24% 4% - - 64% 9% 57% - - 54% 71%
* %k k% k% k% * %k k% k% k% %k k% %k k% * %k * %k %k * %k
52 24 28 15 17 20 6 17 15 14 13 7 1 17 5 - - 1 7

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Immigration

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R

Base: All Answering (unwtd) 69 41 28 21 24 24 1 9 38 21 21 23 7 7 2 2 1 2 4
Base: All Answering (wtd) 63 40 23 23 17 23 3 16 30 15 20 19 5 6 4 2 3 2 4
21 10 11 5 5 11 3 2 11 6 17 2 1 1 - - - - 1

The Conservatives 33% 25% 45% 19% 31% 47% 100% 11% 35% 39% 82% 9% 12% 22% - - - - 18%

kk k% %k * %k kk k% * %k kk k% %k * 3k * %k k 3k * 3k * 3k * %k

10 7 3 4 2 4 - 3 4 3 - 3 2 2 2 - - 1 -

The NDP 16% 18% 13% 18% 14% 16% - 21% 15% 18% - 19% 43% 41% 44% - - 52% -
k% k% k% * %k k% k% * % k% %k k% * %k * %k k% k% * %k * %k

8 5 3 3 3 2 - - 6 3 1 8 - - - - - - -

The Liberals 13% 13% 15% 15% 18% 9% - - 20% 17% 4% 41% - - - - - - -
k %k k% %k * %k kk k% * %k %k k k% %k * %k * %k k %k * %k * %k * %k

3 3 - 2 1 - - - 2 1 - 2 - 1 - - - - -

The Green Party 4% 7% - 9% 4% - - - 6% 6% - 10% - 16% - - - - -
k% k% k% * %k k% k% %k k% %k k% * % * %k %k k% k% * %k

2 1 1 1 1 1 - - 1 1 - 2 - 1 - - - - -

The Bloc Quebecois (BQ) 3% 4% 3% 4% 3% 3% - - 2% 10% - 9% - 10% - - - - -
k %k k% %k * %k k %k k% * %k k %k k% %k * %k * %k k% *k * %k * %k

1 - 1 - 1 - - 1 - - - - - - - 1 - - -

The People's Party of Canada 2% - 5% - 7% - - 7% - - - - - - - 65% - - -
%k k% k% * %k k% k% * % k% %k k% * % * %k %k * %k * % * %k

3 3 - 3 - - - 3 - - - - - - - - 3 - -

Other 4% 7% - 12% - - - 18% - - - - - - - - 100% - -
k %k k% %k * %k %k k k% * %k %k k k %k %k * %k * %k k %k k% * %k * %k

15 10 4 5 4 6 - 7 7 1 3 3 2 1 2 1 - 1 3

Nothing/None of them - they're all the same 23% 26% 19% 23% 22% 25% - 43% 22% 9% 14% 14% 45% 10% 56% 35% - 48% 82%

k% k% k% * %k k% k% * %k k% k% k% * %k * %k %k k% * % * %k

63 40 23 23 17 23 3 16 30 15 20 19 5 6 4 2 3 2 4

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Corruption and ethics in government

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not Don't
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would sure
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 127 67 60 20 60 47 3 22 67 35 61 11 24 6 - 12 1 4 8
Base: All Answering (wtd) 126 69 57 29 46 52 10 42 51 23 72 9 18 4 - 14 * 4 6
49 29 20 5 11 34 10 13 16 10 46 1 - * - 3 - - -
The Conservatives 39% 42% 35% 16% 24% 65% 100% 32% 31% 43% 63% 6% - 12% - 20% - - -
* * k% * D* kk k% * * k% %k * 3k k 3k * 3k * 3k * %k
19 9 9 4 12 2 - 5 10 3 7 - 9 1 - 1 - 1 1

The NDP 15% 13% 16% 15% 27% 4% - 13% 19% 15% 9% - 54% 15% - 4% - 17% 11%
* * k% E* * k% k% * * %k k% * %k k% k% * %k * %k
11 4 7 5 3 2 - 6 3 2 1 - - - - 10 - - -
The People's Party of Canada 9% 5% 12% 18% 7% 5% - 15% 6% 7% 1% - - - - 76% - - -
* * k% * * kk k% * * k% %k * %k k %k * %k * %k * %k
7 4 3 2 4 1 - 1 3 3 - 5 - 1 - - - 1 1

The Liberals 6% 6% 5% 7% 9% 2% - 3% 7% 12% - 53% - 14% - - - 28% 17%
* * k% * * k% k% * * %k k% * % %k k% k% * %k
5 2 3 - 4 1 - 3 1 - 2 2 1 - - - - - 1

The Green Party 4% 2% 6% - 9% 1% - 8% 3% - 3% 17% 4% - - - - - 12%
* * k% * * k %k k% * * k% %k * %k k% *k * %k * %k
2 2 - 1 1 - - - 2 - - - - 2 - - - - -
The Bloc Quebecois (BQ) 1% 2% - 3% 2% - - - 3% - - - - 45% - - - - -
* * k% * * k% k% * * %k k% * % %k * %k * % * %k
* * _ _ - * _ _ - * _ _ - - _ _ * - _
Other * 1% - - - 1% - - - 2% - - - - - - 100% - -
* * k% * * %k k k% * * k %k %k * %k k %k k% * %k * %k
33 19 14 12 10 11 - 12 16 5 17 2 7 1 - - - 2 4

Nothing/None of them - they're all the same 26% 27% 25% 41% 22% 22% - 29% 32% 21% 24% 25% 42% 15% - - - 55% 60%
* * k% * * k% k% * * k% k% * %k %k k% * % * %k
126 69 57 29 46 52 10 42 51 23 72 9 18 4 - 14 * 4 6

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Poverty and social inequality

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 146 65 81 41 64 41 8 27 57 54 8 52 58 2 7 2 2 6 9
Base: All Answering (wtd) 150 76 74 52 59 38 29 44 43 34 9 51 52 1 5 5 6 9 12
65 23 42 27 24 15 13 14 20 18 1 13 44 1 3 - - 2 1
The NDP 43% 30% 57% 51% 40% 39% 46% 32% 46% 53% 10% 26% 85% 54% 65% - - 24% 6%
38 28 10 7 17 14 4 14 10 11 1 35 1 - - - - - 1
The Liberals 25% 37% 13% 14% 29% 35% 12% 31% 23% 31% 11% 70% 2% - - - - - 5%
B* * k% * %k k% k% * * k% L* * * %k * %k k% k% * %k * %k
15 7 9 12 1 3 5 6 3 2 6 - 3 - - - - - 6
The Conservatives 10% 9% 12% 23% 1% 8% 17% 14% 7% 5% 70% - 5% - - - - - 51%
* * k% * %k kk k% * * %k k * * * %k * %k k %k * %k * %k * %k
6 2 4 2 2 1 - - 4 2 - 1 1 - 2 - - 1 1
The Green Party 4% 3% 5% 3% 4% 3% - - 9% 5% - 1% 2% - 35% - - 13% 6%
* * k% * %k k% k% * * k% * * * % * %k %k k% k% * %k
5 4 1 - 4 1 4 - 1 - - - - - - 5 - - -
The People's Party of Canada 3% 5% 1% - 7% 2% 14% - 1% - - - - - - 100% - - -
* * k% * %k k %k k% * * k %k * * * %k * %k k% *k * %k * %k
1 - - 1 - - - 1 - - - - 1 - - - - -
The Bloc Quebecois (BQ) * 1% - - 1% - - - 2% - - - - 46% - - - - -
* * k% * %k k% k% * * k% * * * % * %k %k * %k * % * %k
3 3 - 3 - - - 3 - - - - - - - - 3 - -
Other 2% 4% - 5% - - - 6% - - - - - - - - 47% - -
* * k% * %k %k k k% * * %k k * * * %k * %k k %k k% * %k * %k
18 9 9 2 11 5 3 7 5 2 1 2 3 - - - 3 5 4
Nothing/None of them - they're all the same 12% 11% 12% 4% 18% 13% 11% 16% 12% 6% 8% 3% 6% - - - 53% 63% 32%
* * k% * %k k% k% * * k% * * * %k * %k %k k% * % * %k
150 76 74 52 59 38 29 44 43 34 9 51 52 1 5 5 6 9 12

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Health care

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 403 148 255 78 178 147 16 63 181 143 73 118 116 8 5 4 2 13 64
Base: All Answering (wtd) 385 160 224 88 147 150 58 102 132 93 72 126 94 9 7 2 4 17 55
109 46 63 42 32 34 25 26 35 22 10 23 72 - - - - - 4
The NDP 28% 28% 28% 48% 22% 23% 43% 26% 27% 24% 14% 18% 77% - - - - - 7%
109 57 52 21 45 42 17 26 32 34 4 88 5 1 - - - 4 5
The Liberals 28% 35% 23% 24% 30% 28% 29% 25% 24% 37% 6% 70% 6% 9% - - - 27% 10%
52 22 30 4 25 23 4 11 24 13 39 5 1 - - 1 - 3 3
The Conservatives 13% 14% 13% 4% 17% 15% 7% 11% 18% 14% 54% 4% 1% - - 24% - 16% 5%
7 4 3 3 3 1 - 5 1 1 1 - 1 - 2 - - 1 2
The Green Party 2% 2% 1% 3% 2% 1% - 5% 1% 1% 1% - 2% - 27% - - 6% 3%
* * k% * * * * * % * %k %k k% k% *
6 4 1 1 - 5 3 1 - 1 - - - 6 - - - - -
The Bloc Quebecois (BQ) 2% 3% 1% 1% - 3% 6% 1% - 1% - - - 63% - - - - -
* * k %k * * * * * %k * %k k% *k * %k *
3 - 3 1 2 - 1 2 - 1 - - - 1 2 - - -
The People's Party of Canada 1% - 2% 1% 1% * - 1% 2% - 1% - - - 14% 76% - - -
* * k% * * * * * % * %k %k * %k * % *
99 28 71 16 39 44 8 32 37 22 16 10 13 3 4 - 4 8 41
Nothing/None of them - they're all the same 26% 17% 32% 18% 27% 29% 14% 31% 28% 24% 23% 8% 14% 28% 59% - 100% 51% 75%
1 - 1 - 1 - - - 1 - 1 - - - - - - - -
Don't know/ Not Stated * - * - 1% - - - 1% - 1% - - - - - - - -
* * k% * * * * * %k * %k %k k% * % *
385 160 224 88 147 150 58 102 132 93 72 126 94 9 7 2 4 17 55

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - The economy

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 356 176 180 54 155 147 4 37 151 164 118 109 59 14 3 8 6 7 32
Base: All Answering (wtd) 306 157 149 53 120 133 11 60 121 113 112 20 40 14 3 7 5 5 29
131 76 56 19 55 57 8 18 55 50 101 14 4 2 - 1 2 1 7
The Conservatives 43% 48% 37% 36% 46% 43% 73% 31% 46% 44% 90% 15% 11% 15% - 10% 38% 14% 23%
79 36 42 17 30 32 - 12 28 38 3 66 6 - 1 - - - 4
The Liberals 26% 23% 28% 32% 25% 24% - 20% 23% 34% 3% 73% 14% - 19% - - - 14%
27 18 9 7 11 10 - 9 13 6 - 3 19 2 2 - - - 1
The NDP 9% 11% 6% 12% 9% 7% - 14% 11% 5% - 3% 48% 16% 58% - - - 3%
11 7 4 1 1 10 3 2 6 1 1 - * 9 - - - 1 1
The Bloc Quebecois (BQ) 4% 5% 3% 2% 1% 7% 27% 3% 5% 1% 1% - 1% 60% - - - 10% 3%
* D k% * * * * * % * %k %k k% k% * %k
7 1 6 5 1 2 - 2 4 1 - - - - - 6 - 1 -
The People's Party of Canada 2% 1% 1% 9% 1% 1% - 4% 3% 1% - - - - - 90% - 20% -
DE* k %k * * * * * %k * %k k% *k * %k * %k
4 3 1 - 3 1 - 2 1 1 - 2 1 - - - - 1 1
The Green Party 1% 2% 1% - 3% 1% - 4% 1% 1% - 3% 1% - - - - 12% 2%
* k% * * * * * % * %k %k * %k * % * %k
2 1 - - 2 - 1 - 1 - - - - - - 2 - -
Other 1% * 1% - - 1% - 2% - 1% - - - - - - 41% - -
* %k k * * * * * %k * %k k %k k% * %k * %k
43 15 29 5 19 20 - 13 14 16 7 5 10 1 1 - 1 2 15
Nothing/None of them - they're all the same 14% 9% 19% 9% 16% 15% ; 22% 12% 14% 6% 6% 26% 9% 23% - 21% 43% 53%
- 1 - - 1 - - 1 - - - - - - - - - 1
Don't know/ Not Stated * - * - - * - - 1% - - - - - - - - - 2%
* k% * * * * %k * % k% k% %k * %
306 157 149 53 120 133 11 60 121 113 112 90 40 14 3 7 5 5 29

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Interest rates/inflation

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 57 25 32 13 29 15 1 10 25 21 27 6 10 1 2 1 1 1 8
Base: All Answering (wtd) 54 27 28 12 28 15 5 15 20 15 29 4 9 1 2 1 1 1 7
29 18 10 3 15 11 5 7 9 8 26 1 - - 1 1 1 - -
The Conservatives 53% 69% 37% 28% 53% 72% 100% 48% 45% 52% 88% 18% - - 54% 100% 100% - -
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * %k k 3k * 3k * 3k * %k
7 3 5 3 4 1 - 3 4 1 1 - 7 - - - - - -
The NDP 14% 11% 17% 24% 13% 6% - 17% 17% 10% 3% - 72% - - - - - -
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k k% k% * %k * %k
5 3 2 3 2 1 - 2 2 1 - 2 2 - 1 - - - 1

The Liberals 10% 12% 8% 23% 6% 6% - 13% 11% 7% - 46% 21% - 46% - - - 10%
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k k %k * %k * %k * %k
1 1 - 1 - - - - 1 - - - - - - - - 1 -
The Green Party 2% 4% - 9% - - - - 5% - - - - - - - - 100% -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % * %k %k k% k% * %k
12 1 11 2 8 2 - 3 4 5 3 2 1 1 - - - - 7

Nothing/None of them - they're all the same 22% 5% 38% 17% 28% 16% - 22% 21% 31% 9% 36% 7% 100% - - - - 90%
* %k k% k% k% * %k k% k% k% %k k% k% k% %k * % k% k% %k * %
54 27 28 12 28 15 5 15 20 15 29 4 9 1 2 1 1 1 7

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Housing (e.g., affordability, availability)

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 278 118 160 81 129 68 10 53 121 94 55 67 91 15 4 4 - 7 35
Base: All Answering (wtd) 289 132 156 920 134 64 41 86 95 67 65 74 77 12 7 11 - 8 35
78 32 47 28 31 20 7 21 31 19 3 13 59 - 1 - - - 3
The NDP 27% 24% 30% 30% 23% 31% 18% 24% 33% 29% 4% 18% 76% - 18% - - - 8%
70 36 34 22 33 15 7 27 19 18 3 50 4 5 4 - - 1 3
The Liberals 24% 28% 21% 25% 25% 23% 17% 31% 20% 26% 4% 68% 5% 38% 60% - - 9% 10%
58 37 21 25 21 11 10 10 21 16 45 4 1 1 - 5 - - 2
The Conservatives 20% 28% 13% 28% 16% 17% 23% 12% 22% 25% 69% 6% 1% 10% - 45% - - 5%
6 2 4 1 2 3 - 3 4 - 1 - - 5 - - - - -
The Bloc Quebecois (BQ) 2% 1% 3% 1% 1% 5% - 3% 1% - 2% - - 42% - - - - -
* * * * k% * * * * * * % * %k %k k% * %k
4 1 3 1 3 1 - 1 2 1 - 1 1 1 1 - - 1 -
The Green Party 2% 1% 2% 1% 2% 1% - 2% 3% 1% - 1% 1% 5% 22% - - 8% -
* * * * k %k * * * * * * %k * %k k% * %k * %k
- 1 1 - - - - 1 - - - - - - 1 - - -
The People's Party of Canada * - 1% 1% - - - - 1% - - - - - - 10% - - -
* * * * k% * * * * * * % * %k %k * % * %k
71 24 47 12 44 15 17 24 17 13 14 5 12 1 - 5 - 7 27
Nothing/None of them - they're all the same 25% 18% 30% 13% 33% 23% 42% 28% 18% 20% 21% 7% 16% 5% - 45% - 83% 78%
* * C* * k% * * * * * k% * % k% %k * %
289 132 156 90 134 64 41 86 95 67 65 74 77 12 7 11 - 8 35

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Racism/discrimination

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 65 26 39 30 23 12 1 9 25 30 7 29 14 1 3 - 1 3 7
Base: All Answering (wtd) 62 26 36 34 15 13 3 17 22 20 6 29 8 1 2 - 3 3 10
24 11 12 12 4 7 3 6 7 8 1 18 3 - 1 - - - 2
The Liberals 38% 44% 34% 36% 29% 57% 100% 33% 31% 2% 19% 62% 37% - 24% - - - 15%
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * %k * 3k * 3k * %k
17 3 14 9 5 3 - 3 6 8 2 7 4 1 1 - - 1 2
The NDP 27% 13% 38% 25% 36% 21% - 19% 27% 38% 26% 23% 47% 100% 24% - - 44% 19%
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k k% * %k * %k
3 2 1 1 1 1 - - 1 2 3 - - - - - - - -
The Conservatives 5% 9% 2% 1% 5% 8% - - 6% 9% 54% - - - - - - - -
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k * %k * %k * %k
1 - 1 1 - - - - 1 - - - - - 1 - - - -
The Green Party 2% - 3% 4% - - - - 6% - - - - - 52% - - - -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % * %k k% k% * %k
1 1 - 1 - - - - 1 - - 1 - - - - - - -
The Bloc Quebecois (BQ) 2% 4% - 3% - - - - 4% - - 3% - - - - - - -
* %k k %k k% %k * %k k %k k% %k * %k k %k k% %k * %k * %k *k * %k * %k
3 3 - 3 - - - 3 - - - - - - - - 3 - -
Other 1% 11% - 8% - - - 16% - - - - - - - - 100% - -
* %k %k k% k% * %k k% k% k% * % k% %k k% * % * %k * %k * % * %k
13 5 8 7 5 2 - 6 6 2 - 3 1 - - - - 2 7
Nothing/None of them - they're all the same 21% 20% 22% 20% 30% 14% - 32% 25% 11% - 12% 16% - - - - 56% 66%
* %k k% k% * %k * %k k% k% * %k %k k% k% * %k k% * % k% %k * %
62 26 36 34 15 13 3 17 22 20 6 29 8 1 2 - 3 3 10

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Indigenous issues involving First Nations and Native peoples

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 163 57 106 42 68 53 9 28 76 50 7 48 59 20 7 1 - 4 17
Base: All Answering (wtd) 157 62 95 54 52 51 29 43 55 30 8 45 55 16 8 1 - 4 20
58 24 34 31 16 11 16 11 18 12 1 5 45 2 - - - - 5
The NDP 37% 39% 36% 57% 31% 22% 57% 26% 33% 41% 13% 11% 82% 12% - - - - 27%
* * k% * * kk k% * * kk * K* * 3k * %k k 3k * 3k * %k
40 16 24 5 10 25 3 14 17 7 - 36 2 - - - - 1 1
The Liberals 26% 26% 25% 10% 20% 49% 12% 32% 30% 22% - 79% 3% - - - - 31% 8%
17 7 10 8 4 4 4 8 5 1 - 1 - 9 2 - - - 6
The Bloc Quebecois (BQ) 11% 11% 11% 15% 9% 9% 12% 18% 10% 2% - 2% - 55% 21% - - - 28%
* * k% * * kk k% * * %k k * * * %k * %k k %k * %k * %k
9 5 4 1 6 2 3 1 3 2 5 - 2 2 - - - - -
The Conservatives 6% 9% 4% 2% 12% 3% 11% 2% 5% 6% 64% - 3% 14% - - - - -
* * k% * * k% k% * * k% * * * % * %k %k k% * %k
5 2 3 2 3 * - 1 2 2 - 1 1 - 3 - - - -
The Green Party 3% 3% 1% 1% 5% 1% - 3% 3% 8% - 2% 1% - 44% - - - -
* * k% * * k %k k% * * k %k * * * %k * %k k% * %k * %k
- 1 - 1 - - - - 1 - - - - - 1 - - -
The People's Party of Canada * - 1% - 1% - - - - 2% - - - - - 100% - - -
* * k% * * k% k% * * k% * * * % * %k %k * % * %k
26 8 18 7 11 8 2 8 10 6 2 3 6 3 3 - - 3 7
Nothing/None of them - they're all the same 17% 13% 19% 13% 22% 15% 8% 19% 17% 20% 23% 7% 11% 19% 35% - - 69% 34%
* * k% * * k% k% * * k% * * k% * % k% %k * %
1 - 1 - - 1 - - 1 - - - - - - - - - 1
Don't know/ Not Stated * - 1% - - 1% - - 1% - - - - - - - - - 3%
* * k% * * k% k% * * k% * * * %k * %k %k * % * %k
157 62 95 54 52 51 29 43 55 30 8 45 55 16 8 1 - 4 20

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Energy, including pipelines, gas prices

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 79 35 a4 17 24 38 3 10 32 34 33 8 10 8 3 3 1 4 9
Base: All Answering (wtd) 76 35 42 20 22 34 11 17 25 23 33 6 10 6 3 7 1 3 7
40 17 23 4 15 20 7 7 12 13 28 1 1 2 - 4 - - 3

The Conservatives 52% 48% 55% 22% 68% 59% 63% 41% 50% 57% 85% 11% 13% 36% - 62% - - 41%
* %k k% %k * %k kk k% * * kk k% %k * 3k * %k k 3k * 3k * 3k * %k
9 9 1 6 1 2 4 - 3 2 - 4 4 1 - - - - 1

The Liberals 12% 25% 2% 32% 6% 5% 37% - 11% 10% - 59% 44% 13% - - - - 9%
* %k k% k% * %k k% k% * * k% %k k% * %k * %k k% k% * %k * %k
9 2 7 4 2 4 - 6 1 3 5 1 1 - 2 - - - -
The Green Party 12% 6% 18% 19% 9% 10% - 31% 3% 13% 15% 21% 7% - 71% - - - -
* %k k% %k * %k kk k% * * %k k k% %k * %k * %k k %k * %k * %k * %k
4 2 2 2 1 1 - - 1 3 - - 3 1 - - - - *

The NDP 5% 6% 4% 8% 6% 3% - - 1% 13% - - 30% 10% - - - - 6%
* %k k% k% * %k k% k% * * k% %k k% * % * %k %k k% k% * %k
3 2 1 1 - 2 - 2 1 - - - - - 1 2 - - 1

The People's Party of Canada 1% 5% 1% 5% - 7% - 10% 6% - - - - - 29% 25% - - 8%
* %k k% %k * %k k %k k% * * k %k k% %k * %k * %k k% *k * %k * %k
11 4 7 3 2 6 - 3 6 2 - 1 1 2 - 1 1 3 3

Nothing/None of them - they're all the same 15% 11% 18% 15% 11% 16% - 17% 26% 7% - 10% 6% 41% - 13% 100% 100% 36%
* %k k% k% * %k k% k% |* * k% %k k% * %k * %k k% k% %k * %k
76 35 42 20 22 34 11 17 25 23 33 6 10 6 3 7 1 3 7

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Drug abuse

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 46 16 30 12 24 10 6 6 24 10 6 13 7 6 2 - - 3 9
Base: All Answering (wtd) 53 22 31 18 24 11 19 11 18 6 7 15 4 5 6 - - 4 12
9 4 4 2 6 1 3 - 3 2 - 7 1 1 - - - - -
The Liberals 17% 19% 15% 12% 25% 5% 17% - 18% 43% - 49% 20% 11% - - - - -
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * %k * 3k * %k
9 5 3 5 4 - 8 - - 1 - 5 1 - 3 - - - -
The Green Party 16% 23% 11% 25% 17% - 42% - - 11% - 30% 15% - 53% - - - -
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k * %k * %k
5 3 2 2 2 - - 2 2 * 2 - 2 1 - - - - -
The NDP 9% 14% 6% 13% 10% - - 23% 10% 9% 34% - 44% 14% - - - - -
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k * %k * %k
5 4 1 1 2 1 - - 4 1 3 2 - - - - - - -
The Conservatives 9% 17% 3% 8% 10% 7% - - 21% 15% 43% 11% - - - - - - -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % * %k k% * %k
4 2 3 2 1 2 - 3 - 1 - - - 2 - - - 1 2
The Bloc Quebecois (BQ) 8% 8% 8% 9% 4% 16% - 31% - 17% - - - 45% - - - 14% 14%
* %k k %k k% %k * %k k %k k% %k * %k k %k k% %k * %k * %k * %k * %k
22 4 18 6 8 8 8 5 9 * 2 2 1 1 3 - - 3 10
Nothing/None of them - they're all the same 41% 19% 58% 33% 34% 72% 41% 46% 50% 6% 24% 10% 20% 30% 47% - - 86% 86%
* %k k% k% k% * %k k% k% k% %k k% %k k% * %k * %k %k * %k
53 22 31 18 24 11 19 11 18 6 7 15 4 5 6 - - 4 12

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Infrastructure (e.g., public transit, bridges, roads)

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 75 35 40 17 35 23 7 11 40 17 15 20 10 12 1 - - 3 14
Base: All Answering (wtd) 79 39 40 21 36 22 21 18 30 11 21 24 8 8 1 - - 3 15
21 16 5 7 9 6 7 5 5 5 - 18 2 1 - - - - -
The Liberals 27% 40% 14% 32% 23% 27% 32% 27% 16% 47% - 76% 21% 16% - - - - -
* %k * %k * sk * 3k * %k * %k * %k * 3k * %k * %k * 3k * 3k * %k * 3k * %k
20 9 11 7 7 6 9 5 5 2 17 3 - - - - - - -
The Conservatives 25% 23% 27% 31% 19% 29% 42% 25% 16% 17% 80% 14% - - - - - - -
* %k k% k% k% * %k k% k% * % k% %k k% * %k * %k * %k * %k
9 7 2 4 2 3 - 6 3 1 - 2 6 - - - - 1 -
The NDP 11% 17% 5% 18% 6% 12% - 31% 9% 5% - 7% 66% - - - - 49% -
* 3k * %k * %k * 3k * 3k * %k * %k * 3k * %k * %k * 3k * 3k * %k * 3k * %k
6 3 3 1 4 1 - - 6 1 1 1 - 5 - - - - -
The Bloc Quebecois (BQ) 8% 7% 8% 1% 11% 6% - - 19% 5% 4% 2% - 62% - - - - -
* %k k% k% k% * %k k% k% %k k% %k k% * % * %k k% * %k
1 - 1 1 1 - - - 1 - 1 - - - 1 - - - -
The Green Party 2% - 1% 3% 2% - - - 5% - 1% - - - 100% - - - -
¥k * %k * %k * 3k ¥k %k * %k * 3k %k * %k * 3k * 3k * %k * 3k * %k
22 5 17 2 14 5 5 3 11 3 2 - 1 2 - - - 1 15
Nothing/None of them - they're all the same 28% 13% 42% 11% 38% 25% 25% 17% 36% 27% 12% - 13% 23% ; - - 51% 100%
* %k k% k% k% * %k k% k% %k k% %k k% * %k * %k %k * %k
79 39 40 21 36 22 21 18 30 11 21 24 8 8 1 - - 3 15

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - - 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Government deficits/debt

<H

. Gender | A |
Total Male Female 18-34 35-54 55+ S HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H

| J K L M N 0 P Q R
Base: All Answering (unwtd) 192 100 92 30 78 84 7 27 99 59 89 25 23 15 6 7 1 5 21
Base: All Answering (wtd) 191 107 84 39 64 88 23 45 26 17 15 8 7 * 5 21
111 77 34 14 36 60 13 20 5 7 6 2 2 * - 3
The Conservatives 58% 72% 41% 37% 57% 69% 58% 45% 19% 41% 39% 27% 28% 100% - 16%
B* * k% * * kk k% k% %k * 3k * %k k 3k * 3k * 3k * %k
15 7 8 8 6 1 3 4 3 6 2 2 - - - -
The NDP 8% 7% 9% 21% 10% 1% 15% 10% 13% 34% 14% 29% - - - -
* * k% E* * k% k% %k k% * %k * %k k% k% * %k * %k
15 7 8 3 7 5 - 5 12 - 1 1 - - - -
The Liberals 8% 6% 10% 9% 10% 5% - 12% 48% - 5% 8% - - - -
* * k% * * kk k% k% %k * %k * %k k %k * %k * %k * %k
7 3 4 1 1 5 3 2 - 1 6 - - - - -
The Bloc Quebecois (BQ) 4% 3% 5% 3% 1% 6% 14% 5% - 7% 39% - - - - -
* * k% * * k% k% %k k% * % * %k %k k% k% * %k
6 2 4 2 3 2 - 1 - - - - 5 - 1 -
The People's Party of Canada 3% 2% 5% 5% 4% 2% - 3% - - - - 72% - 21% -
* * k% * * k %k k% k% %k * %k * %k k% *k * %k * %k
2 1 1 - 1 1 - - 1 - - - - - - 1
The Green Party 1% 1% 1% - 2% 1% - - 5% - - - - - - 3%
* * k% * * k% k% %k k% * % * %k %k * %k * % * %k
35 10 25 10 11 15 3 11 4 3 1 3 - - 4 17
Nothing/None of them - they're all the same 18% 9% 30% 25% 16% 17% 13% 25% 14% 18% 4% 35% - - 79% 81%
* A* k% * * k% k% k% * %k k% * % k% k% %k * %
191 107 84 39 64 88 23 45 26 17 15 8 7 * 5 21
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Relations across provinces

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 30 10 20 3 15 12 - 7 14 9 6 7 6 3 1 1 - 1 5
Base: All Answering (wtd) 26 7 19 4 12 10 - 10 9 7 5 7 4 2 1 1 - 1 5
7 3 4 3 1 3 - 3 * 3 - 4 1 - - - - - 2

The Liberals 27% 2% 20% 76% 9% 29% - 31% 4% 50% - 58% 23% - - - - - 39%
* %k kk k% %k * %k k% %k * %k kk k% %k * 3k * %k k 3k * 3k * %k
4 2 2 - 3 1 - 3 1 - - 1 3 - - - - - -
The NDP 15% 26% 10% - 26% 6% - 25% 13% - - 18% 65% - - - - - -
* %k k% k% k% * %k k% k% * % k% %k k% * %k * %k k% * %k * %k
3 2 1 - 1 2 - - 2 1 3 - - - - - - - -
The Conservatives 11% 21% 7% - 10% 16% - - 24% 10% 58% - - - - - - - -
* %k k %k k% %k * %k k% %k * %k %k k k% %k * %k * %k k %k * %k * %k
2 - 2 - 2 1 - - 1 1 1 - - 1 - - - - -
The Bloc Quebecois (BQ) 9% - 12% - 13% 7% - - 14% 16% 20% - - 59% - - - - -
* %k k% k% k% * %k k% k% %k k% %k k% * % * %k %k k% * %k
1 1 1 - 1 1 - - 1 - - - - - - 1 - - 1

The People's Party of Canada 5% 12% 3% - 7% 6% - - 15% - - - - - - 100% - - 11%
* %k k %k k% %k * %k k% %k * %k k %k k% %k * %k * %k k% * %k * %k
9 - 9 1 4 4 - 5 3 2 1 2 * 1 1 - - 1 3

Nothing/None of them - they're all the same 34% - 47% 24% 35% 36% - 44% 29% 24% 22% 24% 12% 41% 100% - - 100% 50%
* %k k% k% k% * %k k% k% %k k% %k k% * %k * %k k% %k * %k
26 7 19 4 12 10 - 10 9 7 5 7 4 2 1 1 - 1 5

Sigma 100% 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% - 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Relations with other countries/trade

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R

Base: All Answering (unwtd) 96 39 57 14 42 40 2 15 46 33 11 29 12 25 4 1 1 3 10
Base: All Answering (wtd) 82 34 47 20 27 35 7 23 32 20 8 23 6 21 4 1 3 4 11
21 10 12 2 9 10 - 6 8 8 - 19 - 2 - - - - 1

The Liberals 26% 29% 24% 11% 32% 30% - 25% 26% 38% - 80% - 10% - - - - 5%
* %k k% * * kk k% * * kk k% %k * 3k * %k k 3k * 3k * 3k * %k
12 4 8 6 2 4 - 3 4 4 1 3 1 3 4 - - - 2

The Green Party 15% 11% 17% 30% 7% 12% - 15% 14% 22% 9% 11% 12% 13% 100% - - - 15%
* %k k% * * k% k% * * k% %k k% * %k * %k k% k% * %k * %k
12 7 5 2 7 4 - 5 5 3 1 2 4 4 - - - - 2

The NDP 15% 21% 10% 8% 25% 11% - 20% 14% 15% 9% 7% 58% 20% - - - - 17%
* %k k% * * kk k% * * %k k k% %k * %k * %k k %k * %k * %k * %k
12 7 5 5 - 6 4 5 3 1 - - - 8 - - - - 4

The Bloc Quebecois (BQ) 14% 19% 11% 27% - 18% 51% 22% 8% 3% - - - 38% - - - - 31%
* %k k% * D* k% k% * * k% %k k% * % * %k %k k% k% * %k
10 3 7 1 6 3 - - 7 4 7 1 - 1 - 1 - - 2

The Conservatives 13% 9% 16% 4% 24% 9% - - 21% 18% 83% 3% - 3% - 100% - - 14%
* %k k% * * k %k k% * * k %k k% %k * %k * %k k% *k * %k * %k
3 - 3 3 - - 3 - - - - - - - - - 3 - -
Other 1% - 7% 17% - - 49% - - - - - - - - - 100% - -
* %k k% * * k% k% * * k% %k k% * % * %k %k * %k * % * %k
11 4 7 * 3 7 - 4 6 1 - - 2 3 - - - 4 2

Nothing/None of them - they're all the same 13% 12% 14% 2% 13% 20% - 19% 17% 5% - - 30% 16% - - - 100% 17%
* %k k% * * k% k% * * k% k% * %k k% * % k% k% %k * %

82 34 47 20 27 35 7 23 32 20 8 23 6 21 4 1 3 4 11

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - New technology

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 19 14 5 8 11 - 2 3 5 9 5 8 2 1 1 - - - 2
Base: All Answering (wtd) 26 22 4 14 12 - 9 5 5 6 11 6 2 1 1 - - - 5
12 11 1 10 2 - 5 2 3 2 11 1 - - - - - - -
The Conservatives 45% 50% 21% 73% 13% - 54% 47% 48% 27% 100% 12% - - - - - - -
* %k kk k% %k kk k% %k * %k kk k% %k * 3k * %k * %k
7 3 3 3 4 - - 1 3 3 - 5 - 1 - - - - -
The Liberals 26% 16% 79% 20% 33% - - 28% 52% 42% - 88% - 100% - - - - -
* %k k% k% k% k% k% k% * % k% %k k% * %k * %k * %k
1 1 - - 1 - - - - 1 - - - - 1 - - - -
The Green Party 2% 2% - - 4% - - - - 8% - - - - 100% - - - -
* %k k %k k% %k kk k% %k * %k %k k k% %k * %k * %k * %k
* * _ _ * - - _ _ * - _ * - - _ _ - -
The NDP 2% 2% - - 1% - - - - 7% - - 27% - - - - - -
* %k k% k% k% k% k% k% %k k% %k k% * % * %k * %k
7 7 - 1 6 - 4 1 - 1 - - 1 - - - - - 5

Nothing/None of them - they're all the same 25% 30% ~ 7% 46% B 46% 259% ) 15% B ~ 73% ) _ ~ ) ) 100%
* %k k% k% k% k% k% k% %k k% k% k% %k * % * %
26 22 4 14 12 - 9 5 5 6 11 6 2 1 1 - - - 5

Sigma 100% 100% 100% 100% 100% - 100% 100% 100% 100% 100% 100% 100% 100% 100% - - - 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Women's issues

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 61 22 39 23 24 14 4 9 26 22 8 22 13 9 - - - 2 7
Base: All Answering (wtd) 62 27 36 28 16 18 11 16 21 15 6 21 12 14 - - - 1 8
15 4 12 8 6 1 - 3 4 8 - 13 1 - - - - - 1

The Liberals 24% 14% 32% 27% 39% 8% - 21% 21% 51% - 61% 6% - - - - - 19%
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k * 3k * %k
11 7 4 - - 11 6 3 1 1 - - - 11 - - - - -
The Bloc Quebecois (BQ) 17% 26% 11% - - 60% 57% 21% 3% 4% - - - 80% - - - - -
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k * %k * %k
11 3 8 9 1 1 2 - 6 2 - 1 8 - - - - 1 1

The NDP 17% 11% 21% 31% 7% 5% 22% - 28% 15% - 6% 62% - - - - 52% 11%
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k * %k * %k
10 8 2 4 3 3 - 3 4 3 5 3 - 2 - - - - -
The Conservatives 15% 28% 5% 13% 21% 14% - 21% 18% 17% 83% 13% - 11% - - - - -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % k% * %k
3 - 3 1 1 1 - 1 2 - - 2 1 - - - - - -
The Green Party 5% - 9% 5% 5% 5% - 9% 8% - - 11% 6% - - - - - -
* %k k %k k% %k * %k k %k k% %k * %k k %k k% %k * %k * %k * %k
13 6 8 7 5 2 2 4 5 2 1 2 3 1 - - - 1 5

Nothing/None of them - they're all the same 21% 21% 21% 24% 28% 9% 21% 27% 22% 13% 17% 8% 26% 8% - - - 48% 70%
* %k k% k% k% * %k k% k% k% %k k% %k k% * %k %k * %k
62 27 36 28 16 18 11 16 21 15 6 21 12 14 - - - 1 8

100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Seniors’ issues/aging population

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 121 49 72 6 32 83 4 29 60 28 29 33 26 1 2 4 2 4 20
Base: All Answering (wtd) 125 50 75 5 28 93 11 49 47 18 35 33 25 1 2 4 4 4 18
34 11 24 - 12 23 2 13 15 4 * 27 1 - - - - 1 5
The Liberals 28% 22% 31% - 43% 24% 22% 26% 31% 24% 1% 81% 3% - - - - 34% 27%
* * k% %k kk k% * %k kk k% %k * 3k * %k k 3k * 3k * 3k * %k
29 17 13 1 5 23 3 9 13 5 7 4 17 - - 1 - 1 -
The NDP 24% 33% 17% 28% 17% 25% 24% 18% 27% 29% 19% 12% 70% - - 23% - 17% -
* * k% k% k% k% * % k% %k k% * %k * %k k% k% * %k * %k
24 13 11 2 2 20 - 10 11 3 21 1 1 - - - 1 - 1
The Conservatives 19% 26% 14% 36% 7% 22% - 20% 24% 15% 59% 2% 5% - - - 15% - 3%
* * k% %k kk k% * %k %k k k% %k * %k * %k k %k * %k * %k * %k
3 - 3 - 1 2 - 2 1 1 2 - - - - 1 - - -
The People's Party of Canada 2% - 4% - 2% 3% - 4% 1% 3% 5% - - - - 28% - - -
* * k% k% k% k% %k k% %k k% * % * %k %k k% k% * %k
1 - 1 - - 1 - - 1 - - - - - 1 - - - -
The Green Party * - 1% - - 1% - - 1% - - - - - 36% - - - -
* * k% %k k %k k% * %k k %k k% %k * %k * %k k% *k * %k * %k
1 - - - 1 - - - 1 - - - 1 - - - - -
The Bloc Quebecois (BQ) * 1% - - - 1% - - - 3% - - - 100% - - - - -
* * k% k% k% k% * % k% %k k% * % * %k %k * %k * % * %k
33 9 25 2 8 23 6 16 7 5 5 2 6 - 1 2 3 2 13
Nothing/None of them - they're all the same 27% 18% 33% 36% 31% 25% 54% 33% 15% 26% 15% 5% 23% - 64% 49% 85% 49% 70%
* * k% * %k k% k% %k k% k% * %k k% * % k% k% %k * %
125 50 75 5 28 93 11 49 47 18 35 33 25 1 2 4 4 4 18
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Defence, the Armed Forces

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 48 24 24 15 14 19 4 8 28 8 7 9 5 14 - 1 1 5 6
Base: All Answering (wtd) 52 25 26 19 14 19 12 14 20 5 12 7 7 12 - 1 1 6 7
13 10 3 4 4 5 3 8 - 2 10 1 - 2 - - - - -
The Conservatives 25% 39% 12% 21% 31% 25% 25% 56% - 40% 85% 18% - 14% - - - - -
* %k kk k% %k * %k kk k% %k * %k kk k% %k * 3k k 3k * 3k * 3k * %k
10 9 2 6 2 2 4 - 6 * - - 7 2 - 1 - - *

The NDP 20% 34% 6% 34% 11% 12% 34% - 27% 8% - - 100% 18% - 100% - - 6%
* %k k% k% k% * %k k% k% k% * % k% %k k% * %k k% k% * %k * %k
7 3 5 3 1 3 - 3 3 1 - - - 6 - - - - 2

The Bloc Quebecois (BQ) 14% 11% 17% 18% 9% 14% - 23% 14% 27% - - - 50% - - - - 24%
* %k k %k k% %k * %k kk k% %k * %k %k k k% %k * %k k %k * %k * %k * %k
5 3 2 2 1 3 - - 4 1 - 4 - 1 - - - 1 -
The Liberals 10% 11% 9% 10% 5% 14% - - 21% 15% - 56% - 6% - - - 12% -
* %k k% k% k% * %k k% k% k% %k k% %k k% * % %k k% k% * %k
1 - 1 - - 1 - 1 - - - - - - - - 1 - -
Other 3% - 5% - - 7% - 10% - - - - - - - - 100% - -
* %k k %k k% %k * %k k %k k% %k * %k k %k k% %k * %k k% *k * %k * %k
15 1 13 3 6 5 5 2 8 1 2 2 - 1 - - - 5 5

Nothing/None of them - they're all the same 28% 5% 51% 18% 43% 28% 41% 11% 37% 10% 15% 25% - 12% ; - - 88% 70%
* %k k% k% k% * %k k% k% k% %k k% %k k% * %k k% k% %k * %k
52 25 26 19 14 19 12 14 20 5 12 7 7 12 - 1 1 6 7

100% 100% 100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Gun control

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot

A B C D E F G H | J K L M N 0 P Q R

Base: All Answering (unwtd) 183 73 110 29 70 84 9 40 88 46 23 49 19 51 5 2 2 7 25
Base: All Answering (wtd) 182 80 102 42 60 81 28 64 62 29 25 45 16 44 9 4 2 6 30
48 26 22 7 17 24 3 21 16 9 - 38 * 5 4 - - 1 1

The Liberals 26% 32% 22% 17% 28% 30% 9% 33% 26% 30% - 85% 2% 10% 39% - - 11% 3%
* * * sk * * * %k * * * * %k M* * 3k * * %k * %k * 3k * 3k * %k
33 21 11 11 9 14 4 12 10 6 18 - * 5 5 4 - - 1

The Conservatives 18% 27% 11% 25% 14% 17% 16% 18% 17% 22% 70% - 2% 11% 54% 100% - - 2%
B* * k% * * k% * * * k% * k% K* * %k k% k% * %k * %k
29 7 22 6 7 16 6 5 13 5 1 2 * 24 - - - - 2

The Bloc Quebecois (BQ) 16% 9% 21% 14% 11% 20% 22% 8% 20% 18% 3% 4% 2% 54% - - - - 7%
* * * %k * * * %k * * * * %k * * 3k K* * %k * %k * %k * 3k * %k
19 9 9 9 5 5 7 3 5 4 1 1 11 4 1 - - 1 1

The NDP 10% 12% 9% 20% 9% 6% 24% 4% 8% 14% 4% 1% 71% 9% 7% - - 11% 2%
* * k% * * k% * * * k% * k% * * %k %k k% k% * %k
1 - 1 - - 1 - 1 - - - - - - - - 1 - -
Other 1% - 1% - - 2% - 2% - - - - - - - - 56% - -
* * * %k * * %k * * * %k * * 3k * * %k * %k * sk * 3k * %k

53 16 36 10 22 21 8 22 18 5 6 4 4 7 - - 1 5 26

Nothing/None of them - they're all the same 29% 21% 35% 23% 37% 26% 28% 35% 29% 16% 23% 10% 22% 16% ; - 44% 78% 86%
* * k% * * k% * * * k% * k% * * %k k% k% %k * %k

182 80 102 42 60 81 28 64 62 29 25 45 16 44 9 4 2 6 30

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Abortion

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0 P Q R
Base: All Answering (unwtd) 83 41 42 23 31 29 7 14 35 27 11 25 13 21 1 - 1 1 10
Base: All Answering (wtd) 85 44 41 30 22 33 21 22 27 16 14 24 9 20 1 - 3 1 14
20 8 12 7 6 7 - 6 8 6 - 14 1 4 1 - - - 1
The Liberals 24% 18% 31% 24% 29% 21% - 27% 31% 38% - 59% 8% 22% 100% - - - 4%
* %k * %k * sk * 3k * %k * %k * %k * 3k * %k * %k * 3k * 3k * %k * 3k * 3k * %k
19 13 6 5 5 9 - 6 8 5 11 3 1 4 - - - - -
The Conservatives 22% 29% 14% 17% 24% 26% - 28% 28% 33% 78% 13% 10% 21% - - - - -
* %k k% k% k% * %k k% k% * % k% %k k% * %k * %k k% * %k * %k
11 7 4 2 1 9 6 1 3 1 1 - - 10 - - - - -
The Bloc Quebecois (BQ) 13% 16% 10% 7% 3% 26% 29% 6% 12% 3% 8% - - 51% - - - - -
* 3k * %k * %k * 3k * 3k * %k * %k * 3k * %k * %k * 3k * 3k * %k * %k * 3k * %k
10 6 4 8 2 - 3 1 3 2 1 5 4 - - - - - -
The NDP 12% 12% 11% 26% 10% - 17% 4% 12% 14% 8% 19% 51% - - - - - -
* %k k% k% k% * %k k% k% %k k% %k k% * % * %k k% k% * %k
3 - 3 3 - - 3 - - - - - - - - - 3 - -
Other 4% - 8% 11% - - 17% - - - - - - - - - 100% - -
¥k * %k * %k * 3k ¥k %k * %k * 3k %k * %k * 3k * 3k * %k * sk * 3k * %k
21 11 10 5 7 9 8 7 4 2 1 2 3 1 - - - 1 13
Nothing/None of them - they're all the same 25% 24% 25% 15% 34% 27% 37% 34% 16% 11% 6% 9% 32% 6% ; - - 100% 96%
* %k k% k% k% * %k k% k% %k k% %k k% * %k * %k k% %k * %k
85 44 41 30 22 33 21 22 27 16 14 24 9 20 1 - 3 1 14

100% 100% 100%

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Affordability and cost of living

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Answering (unwtd) 388 137 251 85 198 105 14 69 179 126 94 93 113 9 12 8 3 10 46

Base: All Answering (wtd) 385 142 244 103 176 106 50 115 133 87 102 91 103 7 16 9 2 11 44
127 47 80 43 56 29 22 40 42 23 3 19 90 1 6 * ; 4 4

The NDP 33% 33% 33% 42% 32% 27% 45% 34% 32% 26% 3% 21% 87% 12% 34% 5% ; 40% 9%
81 34 46 2 36 23 5 20 33 23 68 5 1 * 2 1 1 ; 2

The Conservatives 21% 24% 19% 21% 20% 21% 9% 17% 25% 27% 67% 5% 1% 7% 13% 8% 32% ; 5%
62 26 36 13 31 18 7 11 21 23 2 54 2 1 1 ; ; - 3

The Liberals 16% 18% 15% 13% 18% 17% 14% 10% 16% 26% 2% 59% 2% 10% 4% ; ; - 6%
13 3 10 3 7 2 3 7 1 2 2 2 1 - 6 ; - - 1

The Green Party 3% 2% 4% 3% 4% 2% 7% 6% 1% 2% 2% 2% 1% - 39% ; - - 3%
* * * * %k * * * * * %k * %k * %k * %k * %k *
9 4 5 2 4 2 4 4 1 ; 2 ; ; ; ; 7 ; : ;
The People's Party of Canada 2% 3% 2% 2% 2% 2% 8% 1% * - 2% - - - - 74% - - -
* * * * %k * * * * * %k * %k * ¥ * %k * %k *
- 1 - ; 1 ; 1 ; - ; - - 1 ; ; ; - ;
The Bloc Quebecois (BQ) * - 1% - - 1% - 1% - - - - - 23% - - - - -
* * * * %k * * * * * %k * %k * %k * %k * %k *
; ; ; 1 ; ; ; 1 ; ; ; - ; ; 1 ; ;
Other * * ; ; ; 1% ; - - 1% ; ; - - ; ; 24% - ;
* * * * %k * * * * * % * %k * ¥ * % * %k *

91 27 64 19 42 30 9 32 35 16 25 11 9 3 1 1 1 6 34

Nothing/None of them - they're all the same 24% 19% 26% 19% 24% 28% 18% 28% 26% 18% 24% 12% 9% 48% 9% 14% 45% 60% 77%
385 142 244 103 176 106 50 115 133 87 102 91 103 7 16 9 2 11 44

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



Now, on these three issues that are most important to you, which party do you think is the best to deal with them? - Childcare

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Answering (unwtd) 71 23 48 23 24 24 4 7 37 23 8 19 21 10 1 1 1 2 8
Base: All Answering (wtd) 67 18 48 26 19 21 13 12 26 16 7 15 17 9 1 1 3 3 11
18 7 10 12 2 4 3 3 7 4 1 - 12 5 1 - - - -
The NDP 27% 41% 21% 46% 9% 18% 26% 26% 29% 24% 13% - 70% 51% 100% - - - -
* %k k% %k * %k kk k% * %k kk k% %k * 3k * %k k 3k * 3k * 3k * %k
14 4 10 4 4 7 - - 5 9 2 10 1 - - - - - 1
The Liberals 21% 23% 21% 14% 20% 30% - - 21% 55% 28% 70% 7% - - - - - 5%
* %k k% k% * %k k% k% * % k% %k k% * %k * %k k% k% * %k * %k
6 2 4 1 2 3 - 2 4 - 2 1 - - - - - 2 -
The Conservatives 8% 11% 7% 5% 8% 13% - 16% 14% - 36% 8% - - - - - 64% -
* %k k% %k * %k kk k% * %k %k k k% %k * %k * %k k %k * %k * %k * %k
4 2 3 - 2 3 - 1 3 - - - - 4 - - - - -
The Bloc Quebecois (BQ) 7% 10% 5% - 10% 12% - 11% 12% - - - - 49% - - - - -
* %k k% k% * %k k% k% %k k% %k k% * % * %k %k k% k% * %k
2 - 2 1 * - - - 1 * - - * - - - - 1 -
The Green Party 2% - 3% 4% 3% - - - 4% 3% - - 3% - - - - 36% -
* %k k% %k * %k k %k k% * %k k %k k% %k * %k * %k k% *k * %k * %k
1 - 1 - 1 - - - 1 - - - - - - 1 - - -
The People's Party of Canada 1% - 1% - 4% - - - 3% - - - - - - 100% - - -
* %k k% k% * %k k% k% * % k% %k k% * % * %k %k * %k * % * %k
3 - 3 3 - - 3 - - - - - - - - - 3 - -
Other 5% - 7% 13% - - 27% - - - - - - - - - 100% - -
* %k k% %k * %k %k k k% * %k %k k k %k %k * %k * %k k %k k% * %k * %k
19 3 16 5 9 5 6 6 4 3 2 3 3 - - - - - 10
Nothing/None of them - they're all the same 28% 15% 33% 18% 46% 24% 47% 47% 16% 18% 23% 22% 20% - - - - - 89%
* %k k% k% * %k k% k% * %k k% k% k% * %k * %k %k k% * % * %k
1 - 1 - - 1 - - 1 - - - - - - - - - 1
Don't know/ Not Stated 1% - 1% - - 3% - - 2% - - - - - - - - - 6%
* %k k% * %k * %k k% k% %k k% k% k% %k * % k% k% %k * %
67 18 48 26 19 21 13 12 26 16 7 15 17 9 1 1 3 3 11

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Feeding yourself or your family

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
58 44 14 32 17 9 25 10 12 11 15 16 14 3 1 - - 1 9
Much more affordable 4% 6% 2% 8% 3% 2% 12% 3% 2% 3% 4% 4% 5% 3% 1% - - 1% 5%
88 65 23 38 33 17 - 21 32 35 14 39 16 9 3 - - 1 7
Somewhat more affordable 6% 9% 3% 9% 6% 3% - 5% 6% 10% 4% 10% 6% 9% 7% - - 1% 3%
401 195 205 126 127 147 48 126 127 100 76 146 65 18 15 12 2 16 51
No change 27% 28% 26% 30% 23% 29% 23% 32% 25% 27% 21% 37% 24% 19% 32% 31% 10% 28% 26%
* JLMR * . - vy .
586 253 333 136 232 217 76 143 217 150 155 138 113 40 18 18 2 25 78
Somewhat less affordable 39% 36% 42% 32% 43% 43% 36% 36% 43% 41% 43% 35% 41% 42% 36% 48% 12% 44% 40%
C C * * * %k 3k %k * %k *
351 137 214 95 135 121 61 99 122 69 103 59 67 24 12 8 12 14 52
Much less affordable 24% 20% 27% 22% 25% 24% 29% 25% 24% 19% 28% 15% 24% 26% 24% 21% 78% 25% 27%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Housing

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
41 29 13 17 17 7 10 11 9 11 4 14 6 3 2 - - 2 10
Much more affordable 3% 4% 2% 4% 3% 1% 5% 3% 2% 3% 1% 3% 2% 4% 5% - - 3% 5%
85 59 26 44 29 12 11 14 26 33 21 32 21 1 3 1 1 2 4
Somewhat more affordable 6% 9% 3% 10% 5% 2% 5% 1% 5% 9% 6% 8% 7% 1% 6% 2% 1% 3% 2%
B DE E * GH MR MR * ** *k *k *
585 263 321 132 200 254 74 185 193 133 129 179 84 48 21 19 2 19 83
No change 39% 38% 41% 31% 37% 50% 35% 46% 38% 37% 35% 45% 31% 52% 2% 49% 16% 35% 2%
344 168 176 93 129 121 50 77 129 88 98 82 68 21 10 10 2 15 37
Somewhat less affordable 23% 24% 22% 22% 24% 24% 24% 19% 25% 24% 27% 21% 25% 23% 20% 27% 13% 28% 19%
* * * %k %k k% *
428 175 253 141 170 117 64 113 153 98 111 90 97 20 13 8 10 17 63
Much less affordable 29% 25% 32% 33% 31% 23% 31% 28% 30% 27% 30% 23% 35% 21% 27% 22% 67% 31% 32%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Clothing and other household necessities

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
62 46 16 38 18 7 26 12 10 13 13 24 11 3 - - - 1 10

Much more affordable 4% 7% 2% 9% 3% 1% 13% 3% 2% 4% 4% 6% 4% 3% - - - 2% 5%
104 65 38 50 32 21 11 24 33 36 19 43 20 4 4 1 - 4 10

Somewhat more affordable 7% 9% 5% 12% 6% 4% 5% 6% 6% 10% 5% 11% 7% 4% 9% 2% - 6% 5%
563 274 289 163 202 199 67 155 198 142 110 172 99 42 21 14 5 23 77

No change 38% 39% 37% 38% 37% 39% 32% 39% 39% 39% 30% 43% 36% 45% 43% 38% 33% 42% 39%
527 223 304 126 199 201 76 140 186 124 149 117 101 34 16 19 2 19 69

Somewhat less affordable 36% 32% 39% 30% 37% 39% 36% 35% 37% 34% 41% 29% 37% 36% 34% 51% 14% 35% 35%
228 86 142 51 94 83 29 68 82 48 72 43 44 11 7 4 8 8 32

Much less affordable 15% 12% 18% 12% 17% 16% 14% 17% 16% 13% 20% 11% 16% 12% 15% 9% 53% 15% 16%

A * K * * %k * %k * sk *
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Cell phone service

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183

Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
47 26 21 23 19 4 10 13 11 12 9 13 4 3 3 1 1 4 8

Much more affordable 3% 4% 3% 5% 4% 1% 5% 3% 2% 3% 2% 3% 1% 4% 6% 2% 7% 8% 4%
120 76 44 63 34 23 16 19 44 41 13 53 28 7 2 3 - 1 13

Somewhat more affordable 8% 11% 6% 15% 6% 5% 7% 5% 9% 11% 4% 13% 10% 7% 4% 8% - 2% 7%
741 349 392 211 271 259 112 211 234 183 171 211 131 44 28 24 5 34 94

No change 50% 50% 50% 49% 50% 51% 53% 53% 46% 50% 47% 53% 47% 47% 58% 63% 33% 61% 48%

* * * %k * %k * %k *

363 142 221 82 134 147 49 86 142 86 112 86 62 27 8 7 1 9 51

Somewhat less affordable 24% 20% 28% 19% 25% 29% 23% 22% 28% 24% 31% 22% 22% 29% 17% 17% 7% 17% 26%
213 102 111 49 86 78 23 69 78 42 59 35 51 12 7 3 8 7 31

Much less affordable 14% 15% 14% 11% 16% 15% 11% 17% 15% 12% 16% 9% 18% 12% 15% 9% 53% 13% 16%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Childcare

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38

29 10 48 183

Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
44 36 8 18 22 4 11 13 11 9 12 19 5 3 - - - - 5

Much more affordable 3% 5% 1% 4% 4% 1% 5% 3% 2% 3% 3% 5% 2% 3% - - - - 3%
85 58 27 48 27 9 17 16 16 35 24 34 14 4 - - * 1 7

Somewhat more affordable 6% 8% 3% 11% 5% 2% 8% 1% 3% 10% 7% 9% 5% 5% - - 3% 2% 4%

996 436 561 232 361 404 135 263 351 247 234 275 168 66 45 30 10 33 134

No change 67% 63% 71% 54% 66% 79% 64% 66% 69% 68% 64% 69% 61% 71% 92% 80% 70% 60% 68%
185 86 98 68 71 45 17 52 70 46 45 41 42 12 2 5 - 14 22

Somewhat less affordable 12% 12% 12% 16% 13% 9% 8% 13% 14% 13% 12% 10% 15% 13% 5% 13% - 25% 11%
173 78 95 61 64 48 30 56 61 27 48 29 46 8 2 2 4 7 28

Much less affordable 12% 11% 12% 14% 12% 9% 14% 14% 12% 7% 13% 7% 17% 8% 3% 6% 27% 13% 14%
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Transportation needs

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183

Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
53 40 13 27 22 5 19 10 12 12 15 14 9 6 - - - - 9

Much more affordable 4% 6% 2% 6% 4% 1% 9% 3% 2% 3% 4% 4% 3% 6% - - - - 5%
106 62 45 45 45 17 - 24 39 43 17 51 22 4 3 - 1 4 5

Somewhat more affordable 7% 9% 6% 10% 8% 3% - 6% 8% 12% 5% 13% 8% 4% 7% - 5% 7% 2%

B E E * F F FGH JMR R * *x ** ** *

630 288 342 176 206 249 77 186 214 154 126 190 108 48 23 10 2 27 97

No change 43% 42% 43% 41% 38% 49% 37% 46% 42% 42% 35% 48% 39% 52% 47% 27% 10% 49% 49%
430 179 251 109 162 159 58 111 156 105 122 98 87 27 17 18 5 14 40

Somewhat less affordable 29% 26% 32% 25% 30% 31% 27% 28% 31% 29% 34% 25% 32% 29% 35% 48% 37% 25% 20%
264 125 138 72 111 81 56 69 88 51 84 43 50 8 6 9 7 11 46

Much less affordable 18% 18% 18% 17% 20% 16% 27% 17% 17% 14% 23% 11% 18% 8% 12% 25% 48% 20% 23%

1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Internet Service

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183

Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
44 29 16 17 22 5 12 10 10 12 12 14 7 2 1 - 1 2 6

Much more affordable 3% 4% 2% 4% 4% 1% 5% 3% 2% 3% 3% 4% 2% 2% 1% - 7% 4% 3%
110 71 40 47 42 22 11 23 41 35 15 45 22 5 3 1 3 6 11

Somewhat more affordable 7% 10% 5% 11% 8% 4% 5% 6% 8% 10% 4% 11% 8% 5% 7% 2% 23% 10% 5%
719 337 382 216 247 256 111 187 240 181 167 209 131 43 30 21 1 30 87

No change 48% 48% 48% 50% 45% 50% 53% 47% 47% 50% 46% 52% 48% 47% 61% 54% 10% 54% 44%

* * * %k * %k * %k *

388 157 232 93 147 148 54 99 146 90 102 93 67 35 11 12 1 10 58

Somewhat less affordable 26% 23% 29% 22% 27% 29% 26% 25% 29% 25% 28% 23% 24% 37% 22% 30% 7% 17% 30%
222 101 120 55 88 79 23 80 73 46 67 37 49 8 4 5 8 8 35

Much less affordable 15% 15% 15% 13% 16% 16% 11% 20% 14% 13% 18% 9% 18% 9% 9% 13% 53% 15% 18%

1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Putting money aside for savings

Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H | J K L M N 0] P Q R
Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
68 47 21 31 26 12 17 15 18 19 17 24 9 7 2 - - 1 9
Much more affordable 5% 7% 3% 7% 5% 2% 8% 4% 4% 5% 5% 6% 3% 7% 4% - - 1% 5%
B E * * * %k k 3k * 3k *
155 91 65 62 57 37 17 33 47 58 36 58 26 10 9 - - 9 8
Somewhat more affordable 10% 13% 8% 14% 10% 7% 8% 8% 9% 16% 10% 15% 9% 11% 19% - - 16% 4%
493 258 236 120 179 195 61 143 161 129 105 150 77 37 13 19 2 18 72
No change 33% 37% 30% 28% 33% 38% 29% 36% 32% 35% 29% 38% 28% 40% 27% 49% 16% 32% 37%
352 143 209 95 129 128 20 93 146 94 99 86 65 22 9 10 2 12 47
Somewhat less affordable 24% 21% 27% 22% 24% 25% 9% 23% 29% 26% 27% 22% 24% 24% 18% 25% 10% 22% 24%
414 155 259 120 156 139 96 116 138 64 106 80 99 17 15 10 11 16 60
Much less affordable 28% 22% 33% 28% 29% 27% 46% 29% 27% 18% 29% 20% 36% 18% 31% 25% 74% 29% 30%
A GHI* | | K KM * ** ok ok * K
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



In the last year, have the following become more affordable or less affordable for your household? - Putting money towards paying down your debt

Gender Education Decided-Voters Leaners

| Gender ] A | Rduan |
Total Male Female 18-34 35-54 55+ <HS HS Post Sec | Univ Grad The The Liberal| The New | The Bloc | The Green The Or some | Would not
Conservativ Party Democratic| Quebecois Party People's [other party|vote/None/| Know/Not
e Party Party (NDP) (BQ) Party of Would
Canada spoil ballot
A B C D E F G H |

Base: All Respondents (unwtd) 1501 648 853 347 642 512 61 239 665 536 337 415 336 105 38 29 10 48 183
Base: All Respondents (wtd) 1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197
61 42 19 27 22 12 13 11 21 16 17 19 6 3 1 - - 3 12
Much more affordable 4% 6% 2% 6% 4% 2% 6% 3% 4% 4% 5% 5% 2% 3% 3% - - 5% 6%
B E * * * %k * %k * 3k *
160 96 64 55 68 37 17 38 51 53 33 56 34 14 5 1 4 3 10
Somewhat more affordable 11% 14% 8% 13% 12% 7% 8% 10% 10% 15% 9% 14% 12% 15% 10% 3% 30% 5% 5%
653 321 332 168 210 275 79 189 214 171 151 188 98 56 22 17 2 24 95
No change 44% 46% 42% 39% 39% 54% 38% 47% 42% 47% 42% 47% 36% 60% 45% 45% 16% 43% 48%
290 118 173 83 115 92 40 68 113 69 76 81 58 11 5 13 2 13 32
Somewhat less affordable 20% 17% 22% 19% 21% 18% 19% 17% 22% 19% 21% 20% 21% 12% 10% 33% 10% 23% 16%
A * * * %k %k k% *
319 118 202 95 130 95 61 93 110 55 86 54 80 9 16 7 7 14 48
Much less affordable 22% 17% 26% 22% 24% 19% 29% 23% 22% 15% 24% 14% 29% 9% 32% 19% 44% 25% 24%
A |* | | KM KM * *x *x ** M* KM
1483 694 789 428 545 510 210 399 510 364 363 398 275 93 49 38 15 55 197

Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%



